A2

AL HE R OE
T E MM
s 4,719,000
(BisA ) D
= A g/“/r‘ =
THE 5 R6&HEF 147 NI }
(BisA )
T H 4 |[HEw)IN - ZiEiieEms T
L E i i % 4,290,000
AALA H A FI64E12 H 20 H
AL El g s ARG | BEATR A% -
e HERL LY
AFLIR EHE 4,280,000 H 7 1 8 B 428,000
FATAE: E S = 4 5 10H] 20| #53[H] fi#%
O |mEHER S ERE 4,290,000
O |HEE st 4,290,000
O | Sth kR 4,280,000 AL
wmHEl AN L oW o4 ¥ OF 3F A L = o F 3H




A2

A L R FE
T E MM
THEE 5AE S 55 (L2 7) >OIT0000
= T 1Bl PRAE _
(BisA )
T =4 |l SR i R EE IR T8
L E i i % 3,470,000
AALA H A FI64E12 H 20 H
AL El g s ARG | BEATR A% -
e HERL LY
AFLIR EHE 3,460,000 H 7 1 8 B 346,000
FATAE: E S = 4 5 10H] 20| #53[H] fi#%
O | SHh mHhaax 3,460,000 AL
O |EmER BEASH 3,470,000
O | NS A 3,500,000
wmHEl AN L oW o4 ¥ OF 3F A L = o F 3H




